Name: SubtraCt 40
79 -40 =__ 76 -40 =__ 78 -40 =___
66 -40 =__ 88 -40 =__ 66 -40 =___
83 -40 = 83 -40 =__ 79 -40 =___
52 -40 = 81 -40 =___ 80 -40 =___
76 -40 =__ 64 -40 =__ 78 -40 =___
87 -40 = 72 -40 =__ 64 -40 =___
61 - 40 = 86 -40 -

Working Mathematically

1) 40 out of 95 children wore black shoes. The rest
wore white. How many wore white shoes?

2) The camel needs to get to Grassy springs 58Km
away. After 40km how far has he to go?

3) There are 95 seats set up for assembly. Year 3
takes up 30 seats. How many seats left?

4) I have 74 cars in my collection. 40 of them are
red. How many are not red?
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